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Matter, Energy, and Measurement

What is matter?
Anxi{lq'm_s hat  hes mass ¢ talkes ke Space
B ede~A N omposition

Give an example of a heterogenous and a homogenous mixture:
L5 Vocles A CDUV\PQS'\‘HD"

HeYeogenous Suesl, ot & wokv, pinz o

H()vvxolmows “ Sweetr tea , Steel
) i(‘o/\ + Coreon

What is an intensive property? What is an extensive property?
TAlensive « Does  NOTV  Aepend o~ o omount of SueStance
e

Extensive % Depends ©6n N  Gwount  of  Substance

Give an example of an intensive property and an extensive property:

Tateasive t Temp, bp , wi@ , densitr coloc, Plommpenivy

Exfensive s Moss, yolwme, enesgy

sond, \;P\,.‘\RJ (o>
Give an example of a physical and a chemical change: A

'P\A\le.'\ o\ (,\/\o»?_ . (,0:\' "M*\A'Mj/ G»\M&L_ n st malleasle
(Memicat 4 colof , (Omustion , O‘I{iAaA—"W‘ )

What are significant figures?

A Mmessyred v}.o.z&'v\"( Mo s\r\ops Precesion ¥ Aclucody
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' :#SWhat are the sig fig rules? Dor\”" count
Al zero= ofhes Ak decimal A\ zeo> bo e tefH ~luges € He ene
5 il M 4+ nonzZeo + ok Ve B gre

- Al nonzeo d‘_‘_g."*c“

bleading @5 significant 1&  tuyg

hove & deciwmnal

~leo> blw non2 e oS

13 sandoich

Determine how many sig figs are in each number:

o T LT

1.9x10° 7~ 14000 102 ~0.\8 295.3

2. 1 4

KRR -3
00070 X 700 WD 200 400.0
1 4
150w L
What is 15.0 mL + 20.0 mL + 0.45 mL? 20+0 wr b
1 1 2 L oeus ™
P /
+/ . 35.U5 ~ \35,5wL
sonly lool for decinwats
gof 6’3 K"\Ss
What is 0.185 x (4.9 x 10%)?
. =400b-S
Sox 5\5 fys
.
e

What is 10 x 2.08?
4 )
Io X .09

= 109%
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Convert the following problems:

0.00087 liters to milliliters L. =>w\

oaooo%"?)ﬁ \ \Dﬂs mL
— | iy
4700 milligrams to micrograms vy > Mg
UTOO wng u % \ 0® £

Dio* g | 4

U7 00060

i

. T A0 < pag

55.0 meters to inches

in

5SSO \100 LA | 1

= A\LS ~

lim \1-54 C '

What is 87°F in Celsius and Kelvin?
$1°F S °c =

31°C + 3 :{\-30% e \

. T-3%
OFE = » =3¢
1.% 1.9
What is 506K in Celsius and Fahrenheit? oF OC Xl.8 = °F -39
5_0‘1 /4 > - = | o(, _ —2a i '.9 +2 +?>.7.
A 1. g - )
8= =% X L-§ +
S06 It -213= 2339 52
= 233%¢ X l-g +32
=|Ug) ¢
What is the equation for density? S1°F
p= I ¢ A
- /v 1N\
Solve for density:
49.0g sample, and the level of the water goes from 2_4./01n__L to 31:0mL.
| : Uq.o
M= W40 Bleow Ta i — 4 3
24.0w \ T e———
| ;'I.Uw'\n ToOwrLL
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A spaceship has a mass of 2.0 x 10* Kg, suppose it travels at 15m/s. Find the kinetic energy
possessed by it.

LE =7

m=2.0 Xo* g

ILE = (3-0%0" k() (i5mals)?

= 22500600

*
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An object has a kinetic energy of 25 J and a mass of 34 kg , how fast is the object moving?
LE =253 3 LE=mex grz kE*2 VZ = C&YI) X2
=3y ‘ "y
. oAl |
Fill in the blank:
%BSJ Prefix Symbol Exponent
Tera  Togetnes T lo**
Giga et G \0®
Mega Mon\ey & M L0 ¢
Kilo Jier k 0°
Y| Hecto h IO >
Y | Deka da o}
bose = |k, S eoonn
| Deci d o~
Centi Cra2y c -
Mili Milthant m o~ °
Micro MicrobeS n 10 -¢
Nano Nuwe n 10~ ¢
Pico 0kt Soury p 0~ >
I
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